### **CURRICULUM COMPENSATION**

I RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR AFTER-SCHOOL TUTORING ACTIVITIES FOR THE 2020-21 SCHOOL YEAR ONLY, \$31.32 PER HOUR (20-21): (10-2210-6253-1342-543-1)

> <u>Marsh Elementary</u> Sarff, Cynthia

II RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR BLACK HAWK ELEMENTARY SCHOOL INTERVENTION/TUTORING ACTIVITIES APRIL 6 THROUGH APRIL 15, 2021, \$31.32 PER HOUR, 17.5 HOURS FOR A TOTAL OF \$548.10 : (10-1250-0000-1341-531-1)

Marvel, Marsha

III RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR BLACK HAWK ELEMENTARY SCHOOL INTERVENTION/TUTORING ACTIVITIES APRIL 6 THROUGH APRIL 15, 2021, \$31.32 PER HOUR, 19 HOURS FOR A TOTAL OF \$595.08: (10-1250-0000-1341-531-1)

Coughlin, Karen

IV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR BUTLER ELEMENTARY SCHOOL INTERVENTION/TUTORING ACTIVITIES APRIL 6 THROUGH APRIL 15, 2021, \$31.32 PER HOUR, 15 HOURS FOR A TOTAL OF \$469.80: (10-1250-0000-1341-531-1)

Killebrew, Sara

V RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR ENOS ELEMENTARY SCHOOL PROFESSIONAL DEVELOPMENT ACTIVITIES APRIL 15, 2021, \$31.32 PER HOUR, 1.25 HOURS FOR A TOTAL OF \$39.15 EACH: (10-2210-0000-1341-531-1)

Drennan, Emily	Joyner, Abbie
Flesner, Ida	Taylor, Joelyn
Grieme, Nathan	Uptmor, Jena
Holler, Melinda	Williams, Alyson
Johnson, Kassandra	

VI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR ENOS ELEMENTARY SCHOOL PROFESSIONAL DEVELOPMENT ACTIVITIES APRIL 20, 2021, \$31.32 PER HOUR: (10-2210-0000-1341-531-1)

Farnsworth, Mary	0.75 hours	\$23.49
Frech, Jane	1.00 hours	31.32
Holler, Melinda	1.00 hours	31.32
Jones, Talamia	1.00 hours	31.32
Kent, Kyle	1.00 hours	31.32
Maley, Sarah	1.00 hours	31.32
Marley, Kathryn	1.00 hours	31.32
Phillips, Shawnda	1.00 hours	31.32
Sabath, Michelle	1.00 hours	31.32
Uptmor, Jena	1.00 hours	31.32

VII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR ENOS ELEMENTARY SCHOOL PROFESSIONAL DEVELOPMENT ACTIVITIES APRIL 21, 2021, \$31.32 PER HOUR: (10-2210-0000-1341-531-1)

Drennan, Emily	1.25 hours	\$39.15
Farnsworth, Mary	1.25 hours	39.15
Maley, Sarah	1.25 hours	39.15
Uptmor, Jena	1.00 hours	31.32

VIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR ENOS ELEMENTARY SCHOOL PROFESSIONAL DEVELOPMENT ACTIVITIES APRIL 27, 2021, \$31.32 PER HOUR, 1.25 HOURS FOR A TOTAL OF \$39.15 EACH: (10-2210-0000-1341-531-1)

Etchill, Jamie	Joyner, Abbie
Holler, Melinda	

IX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR ENOS ELEMENTARY SCHOOL PROFESSIONAL DEVELOPMENT ACTIVITIES APRIL 26, 2021, \$31.32 PER HOUR, 1.25 HOURS FOR A TOTAL OF \$39.15 EACH: (10-2210-0000-1341-531-1)

Drennan, Emily	Holler, Melinda
Etchill, Jamie	Jones, Talamia
Frech, Jane	Komnick, John
Grieme, Nathan	Williams, Alyson

X RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR ENOS ELEMENTARY SCHOOL PROFESSIONAL DEVELOPMENT ACTIVITIES APRIL 22, 2021, \$31.32 PER HOUR, 1.25 HOURS FOR A TOTAL OF \$39.15 EACH: (10-2210-0000-1341-531-1)

> Drennan, Emily Maley, Sarah

Uptmor, Jena

XI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FAIRVIEW ELEMENTARY SCHOOL INTERVENTION/TUTORING ACTIVITIES APRIL 6 THROUGH APRIL 15, 2021, \$31.32 PER HOUR, 26 HOURS FOR A TOTAL OF \$814.32: (10-1250-0000-1341-531-1)

Dobron, Mary

XII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FAIRVIEW ELEMENTARY SCHOOL BACKWARDS PLANNING ACTIVITIES APRIL 15, 2021, \$31.32 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$46.98 EACH: (10-2210-0000-1341-531-1)

Brillhart, Sarah

Punke, Lindsay

XIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FAIRVIEW ELEMENTARY SCHOOL BACKWARDS PLANNING ACTIVITIES APRIL 6, 2021, \$31.32 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$46.98 EACH: (10-2210-0000-1341-531-1)

> Kahl, Lindsay Zoll, Alexandra Moore, Lori

XIV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR WASHINGTON MIDDLE SCHOOL TUTORING ACTIVITIES FEBRUARY 24 THROUGH APRIL 14, 2021, \$31.32 PER HOUR: (10-1250-0000-1341-531-1)

Cassens, Glenda	14.00 hours	\$438.48
Coons, Roanna	1.50 hours	46.98
Mccarthy, Caitlin	0.50 hours	15.66
Schaefer, Bridget	1.00 hours	31.32
Schurman, Cecelia	10.00 hours	313.20
Scott, Brandy	1.00 hours	31.32
Sowinski, Kristen	2.00 hours	62.64

XV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR JEFFERSON MIDDLE SCHOOL TUTORING ACTIVITIES APRIL 6 THROUGH APRIL 16, 2021, \$31.32 PER HOUR: (10-1250-0000-1341-531-1)

Beebe, Lisa	1.00 hours	\$31.32
Davis, Tatiana	1.75 hours	54.81
Freeman, Tina	3.75 hours	117.45
Furkin, Ruth	2.00 hours	62.64
Goss-Rodgers, Gina	3.00 hours	93.96

XVI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR HAZEL DELL ELEMENTARY SCHOOL TUTORING ACTIVITIES APRIL 6 THROUGH APRIL 8, 2021, \$31.32 PER HOUR, 9 HOURS FOR A TOTAL OF \$281.88: (10-1250-0000-1341-531-1)

Watts, Cheryl

XVII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR MATHENY/WITHROW INTERVENTION/TUTORING ACTIVITIES APRIL 6 THROUGH APRIL 15, 2021, \$31.32 PER HOUR, 12 HOURS FOR A TOTAL OF \$375.84: (10-1250-0000-1341-531-1)

Rupcich, Mary Ann

XVIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR MATHENY/WITHROW INTERVENTION/TUTORING ACTIVITIES APRIL 6 THROUGH APRIL 15, 2021, \$31.32 PER HOUR, 22.5 HOURS FOR A TOTAL OF \$704.70: (10-1250-0000-1341-531-1)

Motley, Diane

XIX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR MATHENY/WITHROW TUTORING ACTIVITIES APRIL 7 THROUGH APRIL 14, 2021, \$31.32 PER HOUR, 3 HOURS FOR A TOTAL OF \$93.96: (10-1250-0000-1341-531-1)

Oseland, Mary

XX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR MATHENY/WITHROW ERLA PLANNING ACTIVITIES MARCH 9, 2021, \$31.32 PER HOUR: (10-2210-0000-1341-531-1)

Hirsch, Kelsea	1.00 hours	\$31.32
Lauer, Karianna	1.00 hours	31.32
Taylor, Kyra	1.75 hours	54.81

XXI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR SOUTHERN VIEW ELEMENTARY SCHOOL INTERVENTION/TUTORING ACTIVITIES APRIL 6 THROUGH APRIL 15, 2021, \$31.32 PER HOUR, 21 HOURS FOR A TOTAL OF \$657.72: (10-1250-0000-1341-531-1)

Krofchick, Jeanette

XXII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR WILCOX ELEMENTARY SCHOOL INTERVENTION/TUTORING ACTIVITIES APRIL 6 THROUGH APRIL 15, 2021, \$31.32 PER HOUR, 27 HOURS FOR A TOTAL OF \$845.64: (10-1250-0000-1341-531-1)

Jackson, Tamara

XXIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR WILCOX ELEMENTARY SCHOOL INTERVENTION/TUTORING ACTIVITIES APRIL 8 THROUGH APRIL 15, 2021, \$31.32 PER HOUR, 18 HOURS FOR A TOTAL OF \$563.76: (10-1250-0000-1341-531-1)

Hurley, Kimberly

XXIV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR SOUTHEAST HIGH SCHOOL TUTORING ACTIVITIES APRIL 7 THROUGH APRIL 14, 2021, \$31.32 PER HOUR, 2 HOURS FOR A TOTAL OF \$62.64: (10-1250-0000-1341-531-1)

Glass, Bryan

XXV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION MIDDLE SCHOOL SCIENCE DEPARTMENT CHAIR PROFESSIONAL DEVELOPMENT APRIL 26, 2021, \$31.32 PER HOUR, .5 HOURS FOR A TOTAL OF \$15.66 EACH: (10-2210-6493-1341-000-0)

Adams, Jennifer	Gephart, Suzanne
Gates, Kristine	Ziemba-Montavon, Tammy

XXVI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR STUDENT SUPPORT SERVICES 2020-2021 MEDICAID BILLING ACTIVITIES FEBRUARY 1 THROUGH MARCH 13, 2021, FOR RATE SPECIFIED : (10-2210-6220-1342-000-0)

Vandermaiden, Kaitlyn	3.00 hours	\$36.08 per hour	\$108.24
Watt-Brennan, Janine	3.00 hours	\$47.27 per hour	141.81

XXVII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR SOUTHEAST HIGH SCHOOL TUTORING ACTIVITIES APRIL 6 THROUGH APRIL 26, 2021, \$31.32 PER HOUR: (10-1250-0000-1341-531-1)

Bentley, Justin	16.00 hours	\$501.12
Cisco, Carol	12.00 hours	375.84
Cotner, Alysen	14.00 hours	438.48
Dempsey, Tracy	16.00 hours	501.12
Dirksen, Abbey	10.00 hours	313.20
Fenstermacher, Lori	12.00 hours	375.84
French, Jasmine	4.00 hours	125.28
Latif, Ruby	12.00 hours	375.84
Laub, Jill	12.00 hours	375.84
Shores, Tonya	20.00 hours	626.40
Walls, Peter	8.00 hours	250.56
Watson, Michael	4.00 hours	125.28
Weitekamp, Crysta	12.00 hours	375.84
Weller, Anne	24.00 hours	751.68

XXVIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR EDWIN A. LEE SCHOOL INTERVENTION/TUTORING ACTIVITIES APRIL 7, 2021 THROUGH APRIL 14, 2021, \$31.32 PER HOUR, 12 HOURS FOR A TOTAL OF \$375.84 EACH: (10-1250-0000-1341-531-1)

Black, Charlotte

XXIX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR STUDENT SUPPORT SERVICES CPI INSTRUCTIONAL ACTIVITIES NOVEMBER 19, 2020 THROUGH APRIL 15, 2021, \$31.32 PER HOUR: (10-1200-6220-1165-000-0)

Dwyer, Rachael	13.25 hours	\$414.99
Jordan, Laura	6.50 hours	203.58
Smith, Kimberly	6.50 hours	203.58
Womack, Jamellah	17.25 hours	540.27

XXX RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR DEPT OF INSTRUCTION BACKWARDS PLANNING -LAKETOWN ELEMENTARY JANUARY 10 THROUGH FEBRUARY 7, 2021, FOR RATE SPECIFIED : (10-2210-0000-1341-564-1)

Harris-Long, Amy	5.00 hours	\$18.70 per hour	\$93.50
Kunshek, Mary	5.00 hours	\$25.23 per hour	126.15

XXXI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR STUDENT SUPPORT SERVICES READING UNITS OF STUDY PROFESSIONAL DEVELOPMENT ACTIVITIES APRIL 27, 2021, \$31.32 PER HOUR, 1 HOUR FOR A TOTAL OF \$31.32 EACH: (10-2210-6220-1342-000-0)

Allender, Jennifer	Gwinn, Melissa
Appenzeller, Lisa	Rudin, Rebecca
Bingham, Kelly	Sullivan, Kathryn

XXXII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR STUDENT SUPPORT SERVICES PSYCHOLOGIST OVERLOAD ACTIVITIES JANUARY 13 THROUGH FEBRUARY 23, 2021, \$53.49 PER HOUR, 6 HOURS FOR A TOTAL OF \$320.94: (10-2210-6220-1342-000-0)

Whitley, Samuel

XXXIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR STUDENT SUPPORT SERVICES PSYCHOLOGIST OVERLOAD ACTIVITIES NOVEMBER 5 THROUGH NOVEMBER 18, 2020, \$53.49 PER HOUR, 4 HOURS FOR A TOTAL OF \$213.96: (10-2210-6220-1342-000-0)

Whitley, Samuel

XXXIV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR SERVICE CENTER NON-PUBLIC INTERVENTION ACTIVITIES APRIL 5 THROUGH APRIL 15, 2021, \$31.32 PER HOUR: (10-3700-0000-1243-499-0)

Atalla, Julie	3.00 hours	\$93.96
Butler, Tari	5.25 hours	164.43
Maddox, Angela	5.00 hours	156.60
Meyer, Ellen	4.00 hours	125.28
Monke, Elizabeth	35.25 hours	1,104.03
Wetter, Shannon	19.50 hours	610.74

XXXV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION CENTRAL IL SEL COMMUNITY OF PRACTICE ACTIVITIES APRIL 19, 2021, \$31.32 PER HOUR: (10-2210-0000-1341-564-1)

Schoppenhorst, Debbie	1.50 hours	\$46.98
Sholtis, Kelly	1.00 hours	31.32
Teeter, Sara	1.50 hours	46.98

XXXVI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR TITLE I NON-PUBLIC INTERVENTION ACTIVITIES APRIL 6 THROUGH APRIL 8, 2021, \$31.32 PER HOUR, 11 HOURS FOR A TOTAL OF \$344.52: (10-3700-0000-1243-531-1)

Lamsargis, Kathy

XXXVII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR TITLE I NON-PUBLIC INTERVENTION ACTIVITIES FEBRUARY 23 THROUGH APRIL 6, 2021, \$31.32 PER HOUR, 19 HOURS FOR A TOTAL OF \$595.08: (10-3700-0000-1243-531-1)

Schrenk, Nancy

XXXVIII RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR STUDENT SUPPORT SERVICES 2020-2021 MEDICAID BILLING ACTIVITIES FEBRUARY 1 THROUGH FEBRUARY 26, 2021, \$33.92 PER HOUR, 3.5 HOURS FOR A TOTAL OF \$118.72: (10-2210-6220-1165-000-0)

Blakley, Jennifer

XXXIX RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR STUDENT SUPPORT SERVICES CPI INSTRUCTIONAL ACTIVITIES NOVEMBER 9, 2020 THROUGH APRIL 15, 2021, FOR RATE SPECIFIED : (10-1200-6220-1165-000-0)

Johnson, Kathy	12.50 hours	\$43.64 per hour	\$545.50
Logsdon, II, Thomas	9.50 hours	\$28.13 per hour	267.24
Logsdon, II, Thomas	5.00 hours	\$18.75 per hour	93.75

XL RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR MATHENY/WITHROW INTERVENTION/TUTORING ACTIVITIES APRIL 13 THROUGH APRIL 15, 2021, \$31.32 PER HOUR, 11 HOURS FOR A TOTAL OF \$344.52: (10-1250-0000-1341-531-1)

Volker, Dianne

XLI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR LANPHIER HIGH SCHOOL PLANNING MEETING ACTIVITIES APRIL 21, 2021, \$31.32 PER HOUR, 1.25 HOURS FOR A TOTAL OF \$39.15 EACH: (10-2210-0000-1341-531-1)

> Allen, Devynn Beckman, Christine Ford, Sarah Hunsley-Hunt, Stephanie Jones, Jacquee

Pochynok, Kelli Powell, Robyn Thompson, Brandon Wilson, Anthony

## XLII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR STUDENT SUPPORT SERVICES 2020-2021 MEDICAID BILLING ACTIVITIES MARCH 1 THROUGH APRIL 17, 2021, FOR RATE SPECIFIED : (10-2210-6220-1342-000-0)

Cassidy, Barbara	3.00 hours	\$66.12 per hour	\$198.36
Clark, Abigail	3.00 hours	\$38.56 per hour	115.68
Clark, Michelle	2.00 hours	\$63.08 per hour	126.16
Corley, Elizabeth	4.00 hours	\$52.25 per hour	209.00
Deatherage, Debra	5.00 hours	\$56.01 per hour	280.05
Dunn, Cara	3.00 hours	\$38.56 per hour	115.68
Febus, Ashley	0.75 hours	\$54.73 per hour	41.05
Fenstermacher, Lori	3.00 hours	\$65.19 per hour	195.57
Foster, Jennifer	3.00 hours	\$46.02 per hour	138.06
Giacomini-Fay, Lisa	5.00 hours	\$58.45 per hour	292.25
Groesch, Erica	2.00 hours	\$65.19 per hour	130.38
Gruenenfelder, Tara	3.50 hours	\$61.43 per hour	215.01
Hummel, Emily	4.00 hours	\$54.73 per hour	218.92
Hussein, Samira	3.00 hours	\$48.51 per hour	145.53
Jaderholm, Annette	3.00 hours	\$66.12 per hour	198.36
Kim, Whitney	3.50 hours	\$66.12 per hour	231.42
Kinkade, Taylor	3.00 hours	\$36.08 per hour	108.24
Lanter, Lindsey	3.00 hours	\$44.79 per hour	134.37
Locher, Debra	1.25 hours	\$66.12 per hour	82.65
Marcum, Stacie	3.50 hours	\$49.30 per hour	172.55
Mcdaniel-Norton, Stacey	4.00 hours	\$64.25 per hour	257.00
Moore, Carolyn	2.00 hours	\$53.49 per hour	106.98
Mowen, Lindsay	4.00 hours	\$55.98 per hour	223.92
Naumovich, Amanda	3.00 hours	\$55.98 per hour	167.94
Parker, Grayce	3.00 hours	\$43.54 per hour	130.62
Reitz, Laura	3.25 hours	\$53.49 per hour	173.84
Rouland, Jill	1.00 hours	\$52.25 per hour	52.25
Ruholl, Renee	3.00 hours	\$36.08 per hour	108.24
Sanberg, Kathryn	4.00 hours	\$43.54 per hour	174.16
Swierkosz, Beth	1.50 hours	\$63.31 per hour	94.97
Upchurch, Taylor	3.00 hours	\$47.27 per hour	141.81
Vandermaiden, Kaitlyn	3.00 hours	\$36.08 per hour	108.24
Watt-Brennan, Janine	3.00 hours	\$47.27 per hour	141.81

XLIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FAIRVIEW ELEMENTARY SCHOOL BACKWARDS PLANNING ACTIVITIES APRIL 8, 2021, \$31.32 PER HOUR: (10-2210-0000-1341-531-1)

Baldin, Jennifer	2.00 hours	\$62.64
Brillhart, Sarah	3.50 hours	109.62
Punke, Lindsay	1.50 hours	46.98

XLIV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR SOUTHEAST HIGH SCHOOL TUTORING ACTIVITIES APRIL 6 THROUGH APRIL 26, 2021, \$31.32 PER HOUR: (10-1250-0000-1341-531-1)

Craner, Serena	22.00 hours	\$689.04
Graves, Kristina	8.00 hours	250.56
Johnson, Kim	12.00 hours	375.84
Leininger, Brad	18.00 hours	563.76
March, Scott	15.00 hours	469.80
Ogden, Jennifer	18.00 hours	563.76

XLV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR SERVICE CENTER ELEMENTARY STUDENT SUPERVISOR STIPEND JANUARY 12 THROUGH APRIL 1, 2021, \$200.00 PER HOUR, 1 HOUR FOR A TOTAL OF \$200.00 EACH: (10-2367-0000-1165-499-0)

Armstrong, Dawn	Kaitschuk, Angela
Ayre, Amber	Kapnick, Meghan
Baldin, Joel	Kim, Whitney
Barnard, Angela	Kincaid, Jessica
Barnard, Rachel	King, Courtney
Bartletti, Jennifer	Kinkade, Taylor
Bartolomucci, Dena	Kiser-Gruen, Nicole
Beck, Melissa	Komnick, John
Beger, Jane	Kother, Amanda
Bennett, Janene	Kurz, Amy
Berberet, Christopher	Kwedar, Rebecca
Billington, Leah	Langellier, Dia
Blackwood-Lee, Michelle	Lawson, Ayesha
Bluhm, Wendy	Leach, Nikki
Boucher, Lucinda	Leischner, Lindsey
Boyd, Lisa	Lewis, Danielle
Brady Hanken, Kathleen	Lightfoot, Stephanie

#### Service Center Elementary Student Supervisor Stipend January 12, 2021 cont.

Bremer, Traci Brenneisen, Jane Brenneisen, Laura Bresnahan, Alicia Brillhart, Sarah Browning, Elizabeth Brunsman, Shellie Burton, Tina Butterfield, Susan Campbell, Lisa Campbell, Melissa Cano, Michelle Cantrall, Cassandra Cantrell, Kenda Casson, Meghan Cathers, Leanne Chard, Lauren Childers, Tiffany Clark, Kara Cleghorn, Debra Cook, Hailey Cook, Heather Corder, Sara Covey, Heather Cox, Heather Cox, Helen Creek, William Cross, Carol Crum, Milena Crumrine, Carrie Cullick, Madelyn Curry, David Daley, Melinda Danner, Sarah Davis, Holly Davis, Lacy Delong, Michele Devault, Julie Divjak, Leann

Ligon, Tierra Logsdon, Alicia Loken, Alan Londrigan, Amanda Lounsberry, Katherine Lovekamp, Trenton Luca, Jolene Lueking, Mary Lutchka, Kari Madonia, Melinda Maggiore, Michelle Mann, Jennifer Marvel, Andrea Mccloud, Shannon Mcfadden, Jennifer Mcguire, Tracy Mckinney, Benjamin Mckneelen, Angela Miles, Carrie Miller, Holly Milnes, Karen Moore, Lori Mowen, Lindsay Netznik, Melissa Nichols, Ellen Niemeyer, Cara Norton, Heather Novy, Karrie O'Malley, Dawn Oglesby, Jennifer Padavic, Julie Parkinson, Vanessa Patterson, Mary Perry, Martin Peters, Jacqueline Peters, Joshua Phillips, Suzanne Piper, Nicole Price, Jessica

# Service Center Elementary Student Supervisor Stipend January 12, 2021 cont.

Dold, Jena	Punke, Lindsay
Downs, Melinda	Pyle, Amy
Dukett, Jennifer	Quandahl, Erica
Dunbar, Lindsey	Quarton, Lori
Dunn, Deborah	Quarton, Michael
Dwyer, Rachael	Ramsey, Robin
Easley, Kiesha	Redpath, Sara
Edwards, Joshua	Reitz, Laura
Elkin, Victoria	Ricca, Michelle
Elliott, Timothy	Robinson, Jessica
Fafoglia, Rob	Roe, Katie
Finney, Elizabeth	Rogers, Karen
Foster, Carmelita	Roher, Kortney
Foster, Jennifer	Rokosz, Diana
Fox, Kathleen	Rollet, Kimberly
Freer, Jordana	Romadka, Bryan
Frisina, Jessica	Ruholl, Renee
Froehner, Nicole	Scherbing, Laura
Gerdes, Janice	Schoedel, William
Gilmore, Lynn	Schukai, Melissa
Glaub, Jennifer	Schurman, Jennifer
Gleason, Alison	Schwab, Stephanie
Glovinsky, Sarah	Schweska, Lisa
Godefroid, Amie	Scott, Dawn
Goss, Jeremy	Scott, Noel
Greenfield, Darrin	Senger, Kristin
Greig, Anne	Sharpe, Jennifer
Grieser, Jennifer	Sherard, Alexis
Guikema, Lindsay	Simon, Michael
Hale, Yacira	Smith, Kelsie
Hardas, Lisa	Spears, Heidi
Hargan, Heath	St. Aubin, Katrina
Harris, Hannah	Stahr Trimpe, Sarah
Hasquin, Jamie	Steinmeyer, Shelby
Havenar, Meri	Steinwart, June
Hays, Robyn	Suerdieck, Cristina
Hendon, Wendy	Sullivan, Gina
Herman, Katherine	Tarvin, Kandace
Hilliard, Patricia	Tomasko, Kimberly

#### Service Center Elementary Student Supervisor Stipend January 12, 2021 cont.

Hinds, Gennell Hirsch, Kelsea Hockenyos, Karen Hoffek, Angela Holt, Deanna Hughes, Lindsey Hummel, Emily Hummert, Julie Hurrelbrink, Wendy Hustedt, Isaac Hutchens, Trasi Isaacks, Susan Israel, April Jackson, Beverly Jackson, Sabrina James, Gale Jett, Tandra Johnson, Nefra Jones, Terwanna Joyner, Abbie

Tonstad, Laura Upchurch, Taylor Villanueva, Angelica Vogel, Brianne Vose, Antoinette Ward, Katherine Warren, Lillian Watkins, Leslie Wells, Bette Whalen, Jane White, Jerome Whiteman, Denise Whitlock, Katherine Wilburn, Michelle Williams, Aleesa Wilson, Simon Wind, Elin Wiseman, Melissa Zaffiri, Alise